LA

j(4x+3)dz=4-’§'-2+3z+ C

il =22 4324 ¢
@ [@ -8+ Dde=42 42 | , . .
g JOF —4t+3)dt =3 —92¢2 L 3
3 2
@ 10F =~ P4 3-Dd=it oy ge g,
((1 _3\gy= 1 .3
@-(} zz)d’“’— s T+ C
((4 _ 1T - 2 7
= —5+ 2)dz= — T .1
B]_(zv A ) dz SBtiatitec
(3@4‘%)6‘1“‘21}3/24_2 1/2+C
J.(‘J— +5d1l"-25/2+1"1+5u+c

9] j(2v5/4+6v +3v'4)dv—gug/4+—5‘! R Y
M]3 — ") dv =} - 3"° + C
I(3z—l)zdx=I(932—62+1)dz=3x3—322+z+C

@I(z——) ds—f(z’—2+z‘2)da:_ —21:—%+C

@3] [2(2z + 3)dz = [(22° + 32)dz =32° + §2" + C
[ [ (2z — 5)(3z + 1) dz = [ (62" — 13z — 5)dz = 22° — 32> — 52+ C

[ " 5/3 2/3
%‘—:—5@=1(sz/3—5¢ 1/3) 4 = 8,570 8% 4 C
4 T

[ ~1/3 4,5/ _ 23/2 c
22" _r—: + 3dz = _f(2::3/2 o 2 3:: )d2 = gz + 8 i

[ __13 _1_2 C
1;,3_:_1;d3=f(32+$+1)dx(39&1)—3z+2I+z+

:%1'3+2172+3+C

(2 +32° —92—24, — j(z:z + 5z + 1)dz (z # 2)
2

x-—

1z

(P43, _ [ 67y
—tg——dt 5

B

N B L
J‘(r2+6t'4+9i )dt = —1 5

A BRSO 4 0
-5/2 4 4173 dt = -t —3

1 22 i+4’ﬁ+4dt=

[ +4
= 2si v+ C
[2cosudu = §Jcos udu = 3510 .
..-..cosu+

1
22 [ —isinudu = —-%J'Si““d“ =

+ C
IE [%di = 7Isin rdz = —TcosZ
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e

J. 1 dz:%.rcoszdx..—_%sint+ C

4secz
342 : — 3,5/3
28] [ (VT + cost) dt = 2£/% +sint + C 28] [ (Y — sinf) dt = 31 +cost y
1
Izgcs:di j‘secgtdt = tant 4+ C Jsinzt j'csc tdt = —cott . &

I(cscvcotvsecv) dv = fcsczvdv = —cotv+ C
B [ (4 + 4tan?v)dv = 4[ (1 + tan’v) dv = 4[sec’vdv = 4tanv + C

r ;
o Wy = [secwtanwdw = secw + C

CSC W cos w _ C
=T Vv 0] w = —cscw +
@J sin w dw = JICSC‘IUC twd

(1 2 2
33] ( +°:;stc_;)00t2dz=Jcmcgccotzdzzfmzcotzdz= —cscz+ C

:%%%dz = [tanzseczdz = secz + C

[35] By Theorem (5.5)(i), [ Dz {2* + 4dz = {2* + 4 + C.
[36] By Theorem (5.5)(i), [D:Yz® — 8dz = Y -8+ C
[37] By Theorem (5.5)(i), J i‘z (sin¥7) dz = sin¥7 + C.

By Theorem (5.5)(i), J%(J tanz)dz = Ytanz + C.
By Theorem (5.5)(ii), Dz [(z* Nz — 4) dz = 23z — 4.
By Theorem (5.5)(ii), D: [ (z* 22 + 9)dz = z* Y22 + 9.

[41] By Theorem (5.5)(ii), 4 Icotz dz = cot z>.

[42] By Theorem (5.5)(ii), d—zJ'cost + 1dz = COSJZz + 1.
fa”dz:azjdz=2a2z+0 (44] [ abdz = ab[ dz = abz + C
@j(at+b)dt=a-’—+bt+C=§at2+bt+c
a

J(b—ét)dt_FJtdt st + C
I(a+b)du=(a+b)fdu=(a+b)u+C
j'(b—az)du=(b—a2)_[du=(b—a2)u+C

X gl
[49] f'(z) = 12« —bz+1=f(0)=4-3224 .4 ¢

1)=5=2 = ¢ =5
-fr(z)—-9:2+z—8=>f(z)__3z+z_8x+(63 =2+C=5=

f(-)=1=3 84 c0=123C=-

L]
.

dy _ , 172
Bl 7 =42 =y =82 4 C. =i y=%4+Cc=2=c= -1
dy _ . -1/3 2/3 -
@dz_fn ¢y=1§z + C. 3_27:’!/'_135-}-0‘-70:}0:3'
@If(r)—4z—1='f'(2)—2z—-z+Cf'(2) -2 C= —38.

) =3 -4 — 8z 4 D, f)=3=>D=%
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/'—
) = 6z — 4 = ' - _
B fz) =3 - 42+ C. f( =52 C=1.

f@)=2 -2 +z4D. fQ)=4=>D=2

@]éi% — 3sinz — 4cosz = dy _ -3
dz 7, = —3cosr—dsinz + C. z=0= -3+ C=2=

= 0. = —3si
5. ¥ 3sinz + 4cosz + 52+ D. z=0=>4+4+D=T=>D=3

@@=2cosx—5sinx=> dy _ 9
T p = 2sinz + 5cosz + C.
g=7=>—5+ C=3=>C=8.y= —92cosz + Hsinz + 8z + D.

| z=1r=>2+81r+D=2+61r=>D=—2r.
[B7) Since a(t) = v'(1), «(?) _ 9 _ 382 + C. w0)=—-5=C=-b.
Since o(t) = (1), s(}) = 2_P_51+D s0)=4=>D= 4.

58] Since a(t) = v'($), «) = B8 4+ C o0) =20=C=20.
Since v(t) = §'(%), s(t) = 1t 4+ 20t + D. 0)=5=>D= 5.
53 (a) a(t) = —32 = ) = 3914 C. o(0) = 1600 = C = 1600.
s(1) = —168 + 1600t + p. s(0)=0=>D=0.

urs when (1) = _39¢ 4+ 1600 = 0,01t = 50.
§(50) = 40,000 ft.

s(t) = —16t> + D.

(b) The maximum height occ

+ C. v(0)=0=>C=0.
_ —162* + 1000.
object falls 16

(a) a(t) = —32 = (1) = =321
s(0) = 1000 = D = 1000 and s(1)

Hence, the 2 feet in t seconds.

(b) o3) = —32(3) = —96 Tt/

(c) When s({) = 0, _ 1682 + 1000 =0 g 22
Lc W) =187

%ﬁfl ~ 7.9 sec.
c = —16

61 (a) o(t) = —32 = §) = —32t )
o 3 . s(t)-_:.-lﬁtz-—lﬁt+D. s(0):=96=>D.-96
. rejected.)-
(b) s(t) = _16{% — 16t + 906 =0 when t = 9 (—318 rejec

S c

° v(z) } —32(2) - So\ft/se = v(t) — —gtT C. u0) = vy =
4 —

- ! 8 S(t) =

‘ﬂnnA
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